REPLACEMENT PARTS CATALOG

WD series CMF

OVERSIZED CONVECTION
WARMING DRAWER

WD-1CMF, 120V or 208V or 240V, 500W
WD-2CMF, 120V or 208V or 240V, 1000W
WD-3CMF, 120V or 208V or 240V, 1500W

CHIP M'NSTER ™ WITH HIDDEN THERMOSTAT AND NO DRAWER VENT

WD-2CMF-DHC, 120V, 1000W

APW/Wyott
FOOD SERVICE EQUIPMENT CO.
DALLAS, TX. 75226

Part No. 67157 Rev — 3/2000



WD series CMF OVERSIZED CONVECTION WARMING DRAWERS

ITEM  PART ITEM  PART
NO.  NO. DESCRIPTION NO.  NO. DESCRIPTION
1 33832 DRAWER PAN 23 33868 OUTER BACK (1 DR)
2 33822 DRAWER FRONT W/VENT 33815 OUTER BACK (2 DR)
33856 DRAWER FRONT NO VENT 33869 OUTER BACK (3 DR)
3 33839 DRAWER FRONT HANDLE 24 89406 ROCKER SWITCH
4 33821 DRAWER HOUSING 25 33870 CONT. FRAME ASSY (1DR)
5 33809 TOP COVER 33834 CONT. FRAME ASSY (2 DR)
6 33881  SIDE COVER (1DR) 33871 CONT. FRAME ASSY (3DR)
33813  SIDE COVER (2 DR) 26 33883  CONT. PANEL W/THERM (1DR)
33882  SIDE COVER (3 DR) 33872 CONT. PANEL W/O THERM (2DR)
7 33835  LEFT DRAWER SLIDE 33884 CONT. PANEL W/THERM (2DR)
8 33836  RIGHT DRAWER SLIDE 33842  CONT. PANEL CHIP M'NSTER (2DR)
9 33858 DRAWER SLIDE ROLLER 33875 CONT. PANEL CHIP M'NSTER W/THERM (2DR)
10 33156  RIGHT ELEMENT BRACKET 33885 CONT. PANEL W/THERM (3DR)
11 33157  LEFT ELEMENT BRACKET 27 87321 4"LEGSEA
12 33158 THERMOSTAT BULB BRACKET 87327 6'LEGSEA
13 33862 CONT.LABEL W/ THERM. (1 DR) 87328  CASTER W/ BRAKE
33847 CONT. LABEL W/O THERM (2 DR) 87329  CASTER W/O BRAKE
33880 CONT. LABEL W/THERM (2DR)
33846 CONT. LABEL CHIPM'NSTER TM (2 DR) HARDWARE NOT SHOWN
33876  CONT. LABEL CHIPM'NSTER W/THERM (2 DR) 69145 THERMOMETER
33863 CONT. LABEL W/THERM (3DR) 85156  FAN BLADE
14 69120 THERMOSTAT 85190 FAN MOTOR
15 56577 KNOB, T'STAT 88893 DRAWER SLIDE NUT ¥%-20 NYLOCK
16 56530  INDICATOR LIGHT 88892 DRAWER SLIDE SCREW ¥-20 FLAT HEAD
17 54018  HEATING ELEMENT 120V,450W 89061  10-24 HEX NUT
54060 HEATING ELEMENT 208V,450W 88961  #10-24 HEX NUT, GREEN-GROUND
54019  HEATING ELEMENT 240V,450W 88909  #8-18 X 1/2 SLTD TRUS AB
18 33845 FAN HOUSING 89059  #10 EXTERNAL LOCKWASHER
19 55970  POWER CORD 120V 89073  #8 X 1/2 SHEET METAL SCREW
85645 POWER CORD 208/240V 75490  PORCELAIN WIRE NUT
20 89101  STRAIN RELIEF BUSHING 33878 WIRING HARNNES (1DR)
21 56443  INSULATION SIDES 33851  WIRING HARNESS (2 DR)
22 60113  INSULATION TOP 33879  WIRING HARNESS (3 DR)

Part No. 67157 Rev.- 3/2000


http://www.partstown.com/apw_wyott/apw33832?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw33822?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw33856?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw33859?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw33821?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw33809?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw33813?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw33835?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw33836?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw33858?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw33156?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw33157?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw33158?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw33846?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw69120?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw56577?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw56530?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw54018?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw54060?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw54019?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw33845?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw55970?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw85645?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw89101?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw56443?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw60113?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw33815?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw33834?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw33842?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw87321?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw87327?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw69145?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw85156?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw85190?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw88893?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw88892?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw89061?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw88961?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw88909?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw89059?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw89073?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw75490?pt-manual=APW-WD-1CMF_pm.pdf
http://www.partstown.com/apw_wyott/apw33851?pt-manual=APW-WD-1CMF_pm.pdf

AY
7777777 77
Wrifiifi /7
1fr1f11]r1]r 7.
1)1l fiifir)1)ri)rr ()
111/l )1ifr1)1) 1)1
/
tfriflifrifr1)e,)11]14
1)/ 1]11 : :
1fr1f1)r1 87 ) g \ 1)
1f11/,1/11 ©
1/10/ 1 /1
11/11/1 :
7

.

A
A\

rles CMF OVERSIZED CONVECTION WARMER DRAWER

WD se




WD-CMIF WIRING DIAG.

AMERICAN PERMANENT WARE INC e
729 THIED AVENUE ( : ) / /
DALIAS, TX. 75226

J < SWI TCH

THERMOSTAT

PILOT LIGHT

ELEMENT

FAN MOTOR

PILOT LIGHT /
:7

SWI TCH

SRR

THERMOSTAT

FAN MOTOR

§§§7 L2 L1

67137 REV-12/00
GND WD-CMFWD




